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To write linear equations using slope-intercept form; Graph lmear equations in slope-intercept form.

Essential Understanding: You can use the slope and y-intercept of a line to write and graph an equation of the
line.

Vocabulary:

A family of functions is a group of functions with common characteristics. A parent function is the simplest
function with these characteristics. The linear parent function is y = x or f(x) =

A linear equation is an equation that models a linear function.

The y-intercept is the y-coordinate of the point where the graph crosses the y-axis.
KEY CONCEPT: Slope-Intercept Form of a Linear Equation

The slope-Intercept Form of a linear equation of a nonvertical line is \l =N X +b :
where m is the %\ﬁ(‘)& and b is the \! —\D}-@T(_-&p‘\‘

Examples — Identifying Slope and y-intercept — What are the slope and y-intercept of the following

equations?
1 =2x—3 2 =—2x+1 3 = 3 4 .
. y7-- X . y=—2x R G . oy=ToX
me M= '2_ 1 % 4 .
. m = —.'," — e T = b = O
Examples — Writing an Equation in Slope-Intercept Form
N = xrd , 2

B, What is an equation of the line with sIopeE and y-intercept of—17? ﬂ\ =5 X= \

6. What is an equation of the line with slope — 7 and y-intercept of 6 ?

7. What is an equation of the line with slope 0 and y-intercept of 9 ? C = O X + q



You Try:

Find the slope and y-intercept of each equation.

A.

y=—4x+2

m= "L}v
b(y-int)=__ L
y=16

m

e
byint)=_L0

3
B y_=zx
3
m=_14q
biemts_ O3
7
E y=§x—6
1
m=_323

b (y-.int) = “(Q

Write an Equation in Slope-Intercept Form.

G.

y=-x+1

me =i

blyint)=___ |

x=-9

m= _M(MQ\ e c\
b (y-int)=_NONE

What is an equation of the line with slopeg and y-intercept of =4 ? \i = % _X — L[
What is an equation of the line with slope — 2 and y-intercept of 5 ? \j = -2x+5
What is an equation of the line with élope 1 and y-interceptof3? - \) = X+%
What is an equation of the line with slope 0 and y-int'ercept of —17 L |
What is an equation of the line with slope 10 and y-intercept of 0 ? \) % | DX

What would an equation of the line look like with a slope that is undefined? Xz il



